

$$\left[\frac{a}{y} \right] = ?$$

①

$$\lim_{x \rightarrow -p^+} f(x) = \lim_{x \rightarrow -p^-} f(x) \rightarrow f_+ = f_- = f \rightarrow a = p$$

$$\left[\frac{Y}{\mu} \right] = 0$$

$$\lim [x \sin x - 1] = [0^-] = -1$$

⑦

$$k \rightarrow \left(\frac{n}{q}\right)^{-}$$

$$\alpha < \frac{\pi}{4} \Rightarrow \sin \alpha < \frac{1}{\sqrt{2}} \rightarrow \sqrt{2} \sin \alpha < 1 \rightarrow |\sqrt{2} \sin \alpha - 1| < 0$$

$$\lim_{x \rightarrow -\frac{1}{p}} [\lambda x^p - x] = [\lambda (-\frac{1}{p})^p - (-\frac{1}{p})] = [-1 + \frac{1}{p}] = [-\frac{1}{p}] = -1$$

②

$$\lim_{x \rightarrow (-\frac{1}{p})^-} \frac{\log x - \omega + \left[\frac{p}{ex^p}\right]}{\log x - \omega - \left[-\frac{p}{ex^p}\right]} = \lim_{x \rightarrow (-\frac{1}{p})^-} \frac{\log x - \omega + \cancel{1}}{\log x - \omega - \cancel{1}} = \frac{-\omega + \cancel{p}}{-\omega - \cancel{p}} = \frac{1}{0^-} = -\infty$$

⑦

$$R < -\frac{1}{P} \rightarrow R^P > \frac{1}{F} \rightarrow \frac{1}{R^P} < F \rightarrow \frac{P}{R^P} < 1P$$

$$R \left(-\frac{1}{r} \rightarrow R^r \right) \frac{1}{r} \rightarrow \frac{1}{R^r} \left(r \rightarrow \frac{r}{R^r} \left(\Lambda \rightarrow -\frac{r}{R^r} \right) -\Lambda \right)$$

$$\lim_{x \rightarrow 1^+} \frac{\sin^2 nx}{[x] + \cos nx} = \lim_{x \rightarrow 1^+} \frac{\sin^2 nx}{1 + \cos nx} = \frac{1 + \cos nx}{1 - \cos nx} \quad (c)$$

④

$$\lim_{x \rightarrow \frac{\pi}{2}^+} 1 - \cos x = 1$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{1+x} - \sqrt{1-x}}{1 + \sqrt{x}}$$

HoP →

(9)

$$\frac{\frac{1}{\sqrt{1+x}} - \frac{1}{\sqrt{1-x}}}{0 + \frac{1}{\sqrt{1-x}}} \xrightarrow{x=-1} \frac{\frac{1}{\sqrt{1+1}} - \frac{1}{\sqrt{1-1}}}{\frac{1}{\sqrt{1-1}}} = \frac{\frac{1}{\sqrt{2}} - \frac{1}{0}}{\frac{1}{0}} = \frac{-\frac{1}{\sqrt{2}}}{\frac{1}{0}} = -\frac{1}{\sqrt{2}}$$

$$\lim_{x \rightarrow 1} \frac{1-x - \sqrt{1-x} + 1}{1-x - \sqrt{1-x} + 1} \xrightarrow{\text{HoP}}$$

(10)

$$\frac{1 - \sqrt{1-x} + 1}{1 - \sqrt{1-x} + 1} \xrightarrow{x=1} \frac{1 - \sqrt{1-1} + 1}{1 - \sqrt{1-1} + 1} = \frac{1 - 0 + 1}{1 - 0 + 1} = \frac{2}{2} = 1$$

$$\lim_{x \rightarrow 0} \frac{a + \sqrt{bx+c}}{x} = \frac{1}{c} \quad \frac{ab}{c}$$

(11)

$$\text{HoP } 0 + \frac{b}{\sqrt{bx+c}} = \frac{1}{c} \quad x=0, \frac{b}{\sqrt{bx+c}} = \frac{1}{c} \rightarrow \frac{b}{\sqrt{c}} = \frac{1}{c} \rightarrow b = \frac{\sqrt{c}}{c}$$

$$a + \sqrt{b(0)+c} = 0 \rightarrow a + \sqrt{c} = 0 \rightarrow a = -\sqrt{c}$$

$$\frac{0}{0} \rightarrow \frac{0}{0} \rightarrow \frac{0}{0}$$

$$\frac{ab}{c} = \frac{-\sqrt{c}(\frac{\sqrt{c}}{c})}{c} = \frac{-\frac{c}{c}}{c} = \frac{-1}{c}$$

9

$$\lim_{x \rightarrow -\infty} f + k \left[\frac{x}{n} \right] = +\infty \quad [-k] = ?$$

sing

$$\lim_{x \rightarrow (-\infty)^+} \left(\sin x \right) \left[\frac{x}{n} \right] = +\infty \rightarrow f - pk > 0 \rightarrow pk < f \rightarrow k < \frac{f}{p}$$

0^+

$$\lim_{x \rightarrow (-\infty)^-} \left(\sin x \right) \left[\frac{x}{n} \right] = +\infty \rightarrow f - pk < 0 \rightarrow pk > f \rightarrow k > \frac{f}{p}$$

0^-

$$\frac{f}{p} < k < \frac{f}{p} \rightarrow [-k] = -p$$

10

$$\lim_{x \rightarrow \infty} \frac{b \sqrt{y + \sqrt{x}} - yb}{ax - b}$$

$$\frac{0}{0} \sim \Delta a - b = 0 \rightarrow \Delta a = b$$

$$\lim_{x \rightarrow \infty} \frac{b \left(\frac{1}{\sqrt[3]{x}} \right)}{\sqrt[3]{y + \sqrt{x}}} = \frac{\Delta \left(\frac{1}{\sqrt{x}} \right)}{\sqrt[3]{y + \sqrt{x}}} = \frac{1}{9}$$